From:	Dave Larsen <dlarsen@reiengineering.com></dlarsen@reiengineering.com>
Sent:	Thursday, May 28, 2020 10:35 PM
То:	Stoltz, Carrie R - DNR
Cc:	Brian Bailey; Matthew Michalski
Subject:	RE: Incomplete Administrative Review Reminder for 03-07-000151
Attachments:	7367 Geomembrane.pdf; 7367-Geotextile.pdf

Carrie, attached is the proposal to place a membrane over 2 spots at Hedlund DX site. The attached site map is an approximation of the area of the proposed membrane placement. If possible the contractor would like to try to complete the membrane installation next week. Please let me know if you have any questions or concerns.

Thank you, David N. Larsen P.G Senior Hydrogeologist / Professional Geologist

Connect with us :

Confidentiality Notice: This message is intended for the recipient only. If you have received this e-mail in error please disregard.

-----Original Message-----From: Stoltz, Carrie R - DNR <Carrie.Stoltz@wisconsin.gov> Sent: Thursday, May 28, 2020 12:06 PM To: Dave Larsen <dlarsen@reiengineering.com> Subject: FW: Incomplete Administrative Review Reminder for 03-07-000151

FYI, this is for Hedlund. I know you are working on it though. This will be on the agenda for the June 4th closure meeting for discussion only to determine if MWs can be abandoned. John Hunt will be presenting this site.

We are committed to service excellence. Visit our survey at http://dnr.wi.gov/customersurvey to evaluate how I did.

Carrie Stoltz Phone (715)365-8942 Carrie.Stoltz@Wisconsin.gov

-----Original Message-----From: PK_SW584_GRCL@wi.gov <PK_SW584_GRCL@wi.gov> Sent: Thursday, May 28, 2020 12:00 PM To: Stoltz, Carrie R - DNR <Carrie.Stoltz@wisconsin.gov> Subject: Incomplete Administrative Review Reminder for 03-07-000151

37 days have elapsed since the Administrative Review of Case Closure Form was paused on 04/21/2020 for:

03-07-000151 HEDLUND DX - FALUN 10557 STH 70, DANIELS PECFA No. 54840-9999-00

Please contact the Consultant/RP regarding the status:

Attachment B 1A: Location Map PM Comment: Missing from the submitted packet

Attachment F 1: Deed PM Comment: Tax deed was submitted. Need a copy of the warrantee deed

Attachment G 1: Affected properties table completed PM Comment: Return receipts not submitted

Signatures 2: Engineering Certification PM Comment: No signature or date provided

Signatures 3: Hydrogeologist Certification PM Comment: No signature or date provided

Usual and Customary Standardized Invoice #27 January 2020 - June 2020



1 \$

3,155.00

\$3,155.00

Variance

PECFA #: 54810-9999-00 BRRTS #: 03-07-000151 Site Name: Hedlund DX Site Address: 10557 Hwy 70, Falun			Vendor Name: <u>REI</u> Invoice #: Invoice Date: <u>Proposal Date 5-28-2020</u> Check #:			U&C Total \$ Variance to U&C Total \$ Grand Total \$					
	TASK	TASK DESCRIPTION	SERVICES	ACTIVITY CODE	ACTIVITY REFERENCE CODE DESCRIPTION	UNIT		K UNIT OST	UNITS		TOTAL MAX
-	36	Change Order Request		COR05	Change Order Request (cost cap exceedance requests)	Change Order	\$	393.23		1 \$	393.23
	Variance	Consulting time for placement of Ge	eomembrane			Variance	:	\$2,420.26		1 \$	2,420.26

Variance Comodity time for Geomembrane placement

Table 1Variance RequestProposal Date 5-28-2020Geomembrane PlacementHedlund DX

Description	Task	Quantity	Unit Cost	Event	Events	Total Cost
Project Management	hour	5	\$112.96	\$564.80	1	\$564.80
Job Prep	hour	3	\$94.13	\$282.39	1	\$282.39
Administrative	hour	4	\$43.93	\$175.72	1	\$175.72
Field Time and Mileage						
Site Time	hour	6	\$94.13	\$564.78	1	\$564.78
Mileage	mile	405	\$0.545	\$220.73	1	\$220.73
Travel Time	hour	6.5	\$94.13	\$611.85	1	\$611.85
					Total	\$2,420.26

\\reifnp\projects\7300-7399\7367 - Hedlund DX\Proposed Work\2020\[7367 Geomembrane.xlsx]Sheet1



SGS

Environmental Contracting, LLC. N2570 Daytona Drive, Merrill, WI 54452

715-539-2803 ~ Fax: 715-539-2661

jay@sqs-env.com

PROPOSED TO		DATE: May 28, 2020
	L	
Remedial Engineering, Inc.	0	Hedlund DX
4080 N. 20 th Ave.	С	Direct Contact Caps
Wausau, WI 54401	A	10557 Hwy 70
Attention: Dave Larsen	т	Falun, WI
	1	
Phone: 715-675-9784	0	
Fax: 715-675-4060		
Email: dlarsen@reiengineering.com		

Cost estimate to strip 1'of gravel, place geotextile, replace with stripped and new gravel for 2 locations on site (10' x 22' & 12' x 35') (1 area to be stripped down to the buried asphalt.)

DESCRIPTION	QTY	UNITS	PER UNIT	TOTAL		
Mobilization	1	Lump sum	1,980.00	1,980.00		
Stripping areas, installing fabric, backfilling with on site material and up to 1 load of gravel.	1	Lump Sum	p Sum 1,175.00 1,175.0			
TOTAL			\$ 3,155.00			
Jay A. Schlueter – Owner / Manag						
Authorized SGS Signature	Purchaser's Signature					
** Document becomes a contract when sig purchaser. If this quote is accepted please return 1 signed copy to this offi	TERMS: PAYMENTS DUE UPON COMPLETION					

